43!1103—N )logﬁ’g eReY MO PAL JQ RO NN LR

aYe Ink @ eoN £! 4

A
1~ <4 —X'/)l:é%*% <—/3) 2
M- 4 <4~ —%) + = <_A47-)9\ 3
/J) 5/6 /D RAJN Jeb) N/c [/c Ib_) QbJoC r'bo  =aC iﬂ
v ‘»g;e DD mng Pc( Iwogy«;) 3l
p'uIc h-1 7N o) Segwy  woN /d") %=1 A 7| .
ﬁﬁw—t@ LS)\A“} ge/w/n J»%T}})J o ‘c m’gsul
-L;/i 'O /V Mz A+7 <h 4) (77‘) (“W)h 4_/(.6
+ h—1-k
ANl s
7ogU}P1\/§m 73’,/\’( k= o
(- ) 6" (- ) ) 20-4-%)
P(/;(M) —3*+<4——F’<}J(M>> P Pw /J)J T
Pl Taou /'/q
G ErEp=t = p= 2 .8
T =7 3
/3)' cfwl,rﬂ/cf D) fwdol gl /ca(/v) PoYa é?/ce [QN{ /_v\ ,70

3 e? PN




P’JJ\XN Lg D) >Q,L>I PN & PR3 )313& OQJ /b_p,
*L‘C PA ‘13 C- 25 OPN? . 4; o PW 70/3[
7’]5 /L”D P\b’ﬂ L WHID J\hzj,@f)

of’""g’ P> m el /Q'N’ M

(%)= SM133 \V@= V3l ;
vs("ﬁé'z:ﬁi’*) pE2 )6 wm)

*’775(943)*” ’23(4 31) = 093~1+n, 0%

p(r)= -2 2
<(c,,): S0 (B At

.Q_D} <DL QO\O) ”)Qigoﬂ ?w BN S e, jbb o rlf 43
? bo p=>0) D P/GN g? ?53 Lra |

R T i s y

TEA LS E %(”*%'% S
P<Mﬂ€f\§4> B 2. -4.;,1”,_&,/’4__1_,&@_ _4,

PCCh) — - 1
—>
— 3
I bor) (bD) 'bo> 3/\/ £ AL FAE oD qu
| ¥ 3D @L> <pb J,/j[ SUSES (DZ_),

. D




e a2 = gy =

P+ q:f +9 ~ =P 13
(12 wes) oy == £
6(* /[\/:/)>:4OOO+£OOO =100
6—(7( /M:;): < /looo-gi}ooo " %oa‘f-}o{)o)/(71 9o
& (X /f\/<3>: s NS00 + ——&—— 3o /]7~S'o~°)‘9‘j;°

4OOO+S_001< Hopl b }8’7 3 /<“33

) By _j\U’SL]OB) k
4+k

g&b’da 8

¥ Jﬁlﬂs
IO 13Co +)Cok

é(\q 2 k=1 1150+ Q.S'o/<>
*4950 fg ;k 1 ﬂég f F’ e~ 4/<4g50 as-ag

u\% wQﬂ Lh <’) _R5) /u!do')>
ngﬂl 3 F wQ,LD > f{ JB/A/N) 'S Flsex e /CJ( > //c

g&; _j\IjS {b' U © 970
, 0 g /g/dQ, Ug/fm s/ ’

1oo 0+

p—>0 ')Q,jc,b S p /</ /]
p(\(:k):qu's Pk>3 kY :<!\/>3) JERTe A9
= kT o =
6(% /f\/é 3) = /?0:3 P9 (419 +,)§o/<>

= 1250 +2.80

AW

S—

- ('\/): —Ff’»‘ 6(\#): 1o §ot ;(o/f
6(*’\/) = E P- ﬁjc_/). Z< C/);L,é‘o +Q~€-o»é> =

b~ — A5
3 P'C’i CZQ-F;\/,:}-S'O‘F—F-

20



) -4
= /1250 gf;,t}k‘tk—f—l\?og)o‘c] ~/<Q::

=135%. € (f\/) ~+ 257> <\/(/v)—+ C—g(l\/)) ~




